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g_evMon8 RMS (ppm)

corr_us_av

(wdd) sny

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



0 o o o hal (2] [v] <
g 3 5 & B 8
& 8 S ~ 3 8
g 3 [ == ©
S + © 8 + + —
+H o~ 5 f=2 « -
g 8 § 2 2 ]
g g b=
2 S s o — ©
8 ]
= ]
- - .
clsg 5§ &8 3 2 & § E g
S <
|l & 5 & %« 8 2 @& E
2 ]
> — N
b -
= ——
— I
m , —o
= | E—
S ]
Q s
(a)] ]
— I
7
—¢
L NI | | __________________Iow
n o n o n o wn o
32 [32) N N — -
I
~
o w
.
o ¥
4
©
- M
< <
N
(q\
|
Y—
©
e
)/0
o«
o<
(@]
N
()]
c
2
>
j
2
ﬁ
[%2)
=)
a
-
(@]
(&)
Lo oo ot
% % M m o % % ﬂ %564202468

I Soco n_vn_x_un_u



g_evMon9 RMS (ppm)

corr_us_av

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
p0'TVOr
7' oroy
£0oroy
p C'OVOT
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

bl
™ 10
N

(wdd) siny

N



1D pull distribution

0
be

pO
[ ]

X2 / ndf

g_evMon10 (ppb)

corr_us_av

© o ) ) . o~ © ™~
g 5 s o & ¢
3 8 2 w o) S
=] = @ i =3 =]
IS] IS] v < =} H -
+ + e 2 +H iy n
8 E ® 3 S n
g 3 g 3
S ] S © ]
S ° ]
= -
T, 3 0z _ = ]
3 b= 2 k=1 8 @ —
s a 5] = < 1] s £
3 3 E g 3 s 31 =) ]
= 2} =} o > (8] = 2] -1
T -
L
PRI T NN SR T T S (N T T SN TR N SR SN T S (NN SN T SR SR N N S S T
[Te} o [Te} o [Te) o
N N - -
I @
Py
A
N~ o °
\ 4
n O P
-~ M °
94 —_—
Py
© 4 e
Py
N~ P
y O e
o °
< hd
[e0] o
i - hd
- \ 4

80—

TOINONT D
o000 o000



g_evMon10 RMS (ppm)

corr_us_av

v'Lv0Y
€' L0y
z Loy
Loy
0'Lv0Y
v'9voy
£'9v0Y
Z'9vor
T'9v0Y
0'9v0y
'svoy
£'5v0Y
Z'svoy
T'S0Y
0'sv0Y
£y
° — Z¥roy
T'vroy
—| ovvor
— €Evoy
— zevoy
—{Tevor
— oevoy
— v'zvoy
— ezvoy
z'zvoy
—{T'evor
— o'zvoy
— £ Troy
— zTroy
—{TTY0Y
0'TYOY
— vovor
— €'ovoy
— zovoy
—{Tovor
— o'ovor
b 6E0
— €'6E0
— z6e0
—{T'6g07
— o'6e0v
— s'Le0p
— v'Le0p
— €Le0p
— z'le0p
—{ 12807
— 0280
7'980Y
— e'9gor
— z'9e0
— T'9g0Y
— 0'9go
— ¥'seor
—| £'5E0
— z'seor
—{T'seor
| | | H] oseor
T}

Db b b b |
< ;o ™ 1;» N . .
™ N — o

(wdd) siny



~ © o o @9 o9 9o <
.- 5 e 2 5
g g 85 23 3
T H S 2 o« + .
N © - ™ — o
mW.O n,vO -
Sz & 3 o5 & .
c 8 % £ B 3 5 g — <
c|[& = 8 ¢ - 5 8§ 5 7
.DMSUOXCMS 3
5 =
a — 3
= ——
0 ! —]°
5 —_— . .
3 | I—
Q s
(a)] ]
— I
7
—¢
_______________________________Iom
o 0 o 0 S ) =)
™ ~ « = =1
I
N~ ©
N N
~ o
— O
M+_
o~ SN
LN
™
o
Y—
e
e
—~|™~
2% 28
o
—
—
c
o
=
>
j
o
>
j
[%2)
=]
L
-
(@]
(&)

Ao Tn

- o o'4

o n
SN
I | |



g_evMonl1l RMS (ppm)

corr_us_av

____________ _______
© T} < ™ o~

(wdd) sny

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



0000

15000

10000

5000

5000

corr_us_dd_evMonO (ppb)

X2 / ndf

pO 854 + 616.1

54.24 | 57

-

.
<
©
5
=)
<+

1D pull distribution

Mean 0.0001864 + 0.127
| StdDev  0.9671:0.08979
12~
Underflow 0
i Overflow 0
10 X2 / ndf 9.108/7
B Constant 12.88 £2.59
8 Mean 0.1727 +0.1278
| Sigma 0.8085 +0.1156
6 —
4
2 —
L1l | Ll | 1 111 | 111 | | L1l | Ll
0
-8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_us_dd _evMon0O RMS

_____
Lo
™

______
o
)

<~ <

(wdd) sy

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



Y ® o o ~ $ v 3z
g £ s 2 8 g
< g g 9 = =
s © e 4w 3 2
€ 2 s B 2 4 -
A b ]
s K - 8 g i
PN I
s 3 s =]
T =]
vmwfm -1
» T & B 8 © —
c|l§ £ &2 &% £ ¢ § ¢g ]
o s B 5 S %« 8 2 &
E=
3
o -
= I ]
= -
2 < .
© 1 -1
= -
o
o
- -
PR TN TN A TN TN TN N T N T T N S TN T A W NI B
< N o © © N o
— — -
I L
————
N~ ©
O o
~ ©
Lo
< +H
nm
O N
- —
<
<
—
Y—
©
c
=}
| —
QX< Q
Q)
o
~
————
—
c
=
> —_——
e_
o
>
(%2}
S —
r_
e ——
o
(&)
—_——
—
____________________TT_lTT'.T_lTI._
s 8 8 &8 ° 8 8 38
o n o Yo} [Te) o n
13 i = | =1 -




(ppm)

corr_us_dd _evMonl RMS

_________
T} o
© ©

(wdd) sny

Lo
Lo

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



corr_us_dd_evMon2 (ppb)
X2 / ndf

43.27 1 57

1000 F—

500 —

p0 -36.3+ 345

—
—
—

T
—

500%»

=
o
o
o

—
—
[e——

o o

N UL UTO Ul UIN

|
=

16

14

12

10

1D pull distribution

CJOO

Mean 0.00329 +0.1134
[ B StdDev  0.8637 +0.08019
__ Underflow 0
'_ Overflow 0
N X2/ ndf 2.269/5
:_ \ Constant 12.41+2.26
N Mean 0.06504 + 0.15661
:_ Sigma 1.02 +0.16
L L1l Ll 1 | 111 | 1110 | 1 L.l | Ll
-6 -4 -2 0 2 4 6 8




(ppm)

corr_us_dd _evMon2 RMS

— v'2vov
—| ezvov
— zLvoy
—{T2v0r
— o'zvov
— v'ovor
— e'ovor
— z9vor
—{ T'9vor
— 0'9vov
— ¥'Svoy
— £'svoy
— z'svor
—{T'svor
— o'svoy
—{ evvor
— Z¥roy
—{Trvor
—| ovvor
— €Evoy
— zevoy
—{Tevor
— oevoy
— v'zvoy
— ezvoy
— z'zvoy
—{T'evor
— o'zvoy
— £ Troy
— zTroy
—{TTY0Y
— o'Tvor
— vovor
— €'ovoy
— zovoy
—{Tovor
— o'ovor
— v'6E0Y
— €'6E0
— z6e0
—{T'6g07
— o'6e0v
— s'Le0p
— v'Le0p
— €Le0p
— z'le0p
—{ 12807
— 0280
— v'9eoy
— e'9gor
— z'9e0
— T'9g0Y
— 0'9go
— ¥'seor
— £'se0y
— z'seor

T'SE0Y

L1 _H_“ 0's€0Y
N
N

(wdd) sny



o =] =] o
ER S 8§ 2
S = o o N o
o @ + o + i
M + =1 o ».m_ o 7
(=2}
g 8 = & 8 .
o — N -
E 3 .
. 3 =z _
) < K] k=1 8 ]
= o @ = 2 ® H g
c 3} o B e 5 5] 1=
o = 4] =) o < () = n —
= -
5 —
b =
s 3]
Rl [ -
© -
= -
o —
(@) ]
i —
TR T R T M T L L 1 1 .
< o oo} © < o
— =
I —_— —
————— —1
~ ™M ——— —
0 © —— —
L0 « .||.. T
— — —
M + — e L. 3
— —
N~ —nm —_— —
. p—— —
™ —— —
n_/_ ———— —1
—_— —1
— —1
—— —
S . I
< — —1
~ —l— —
O — —
hnwn < Q] — o —— —
——— -+
o I
~ — ]
—— —
Qnu —le— —
—e—4
O —_—
M ———
> —- i
e_
— —1
o ——o——— —t
© ——— —+
I — e —— —t
% — —
———
r_ - —1
5 — 1 o
—
© —e—1—
—_—
——t—
—— —
—_— —
——— —
— —
—— —_
— —
—e——
—_—
————
—_——
_____________ _________________I
o o o o o o o o o o
o o o o o o o (= o
n < %] I3 =1 < Y ¢ ¥




(ppm)

corr_us_dd _evMon3 RMS

5
14
13
12
11—

(wdd) sny

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

+ 0.07568
0.5764 + 0.05352
0.9919/2
17.14+2.81

-0.000833

Mean

Std Dev
Underflow
Overflow
X2 I ndf
Constant

1.531e-17 + 4.360e-08

Mean

0.8732 + 0.1608

Sigma

ﬁ\

19.27 /57 h
.216 + 14.66

3

X2 / ndf
0

p

(ppb)

corr_us_dd_evMon4

| __Tf+IT+¢If+IT+¢I%4 11

L1111+

o

30
200
100

o

-100

-200




(ppm)

corr_us_dd _evMon4 RMS

]

H

—l
P S

(wdd) sny

o
—

(e}

[e0]

N~

(o]

o

<

™

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



+0.1374

—0.005278

Mean

+0.09715

1.046

Std Dev

Underflow

Overflow

7.958/8

X2 / ndf

14.84 +2.79

Constant

0.1617 +0.1038

Mean

0.7176 + 0.0889

Sigma

1D pull distribution

)

63.5/57 R

X2 / ndf

114

+3

.368

-2

pO

(ppb)

corr_us_dd_evMon5

100




(ppm)

corr_us_dd_evMon5 RMS

S
[e0]

(wdd) siny

™



1D pull distribution

+0.1194

-0.01579

Mean

+0.08443

0.9093

Std Dev

Underflow

1.216/6

Overflow
X2 / ndf
Constant

14.76 + 2.44
0.02003 + 0.11353

Mean

0.8256 + 0.0877

Sigma

f\

47.97 1 57 R

29.42

X2 / ndf

13.09

+

pO

(ppb)

corr_us_dd_evMon6

————

-100

o o o
(=] o o
§ 8 %

m

0III|III|




(ppm)

corr_us_dd _evMon6 RMS

Lo <
— —

(wdd) sny

™
—

[N
o —

—

—l

o
—

(o)}

[e0]

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

© < ° ° © ~ © 0
8 5 ° I 8 8
9 8 3 © g 3
s S S + 3 2
S = A S ©
+ B = 3 Y ]
2 4 b= I e
7 ] ~ 8 ]
3 = 5 ~ a
S
$ E — ©
T S 1
T a
H = B
3 z . z —
3 = S 5 s © <
< o 5] b4 < 7] < £ .
i 4 ] = 2 §
g = 2 3 S s g =3
= 2] =] <] > o = 12}
o~
L — o
o
|
PR I SN SN TN TR AN TN TN T TN N SN SO TN SR A TN TN W T NN WY SO S 1 P
[re) o 1) o 3] [S)
~ « = —

.365

59.11/57 h
-2.288 + 3

X2 / ndf
0

(ppb)

corr_us_dd_evMon7

100—




(ppm)

corr_us_dd _evMon7 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
p 0'6E01
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
p0°LE0Y
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

[ce) N~ © Lo <

(wdd) sny

N

LTI
—



¥ O o©o o ®» 9o o o
< 9 - £ < 4
B 8 s o & 3
== I # =2 o
e 4 e 5 2 4 .
Ho N YW g ]
¥ 8 & 5 g ]
B3 g 3 =]
=1 =3 _
3 ? b
z - -
wmmmm © —
c|§ S5 ¢ § S & § & .
g
|2 & 5 & « 8§ 2 & E
2 ]
5 -
2 L
=
- =
k%] ]
S —— . E
=] D
2 =
o .
— |
NI BT B | ) | .
o [Te} o o n o
[32) N N —
I
N~ O
n om
~
< ™~
™ 4
Sw
™
<
y—
©
e
~ O
|
QX< Q|
[X
o
N
[e0)
c
3
>
e_
©
d_
(%)
S
r_
S
o
o
»-
| |
o o o
wn o n
— —




(ppm)

corr_us_dd _evMon8 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
p £'SYOr
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY

€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

(wdd) sny



corr_us_dd_evMon9

9 < (=} (=} n ~ o
s 2 R
=3 © ] + © —
o < o ~ 3 S
H ° < - S + -
© H <
5 © H ~ .
5 3 < ~ .
b= — < ©
e & 5 S —
= S a E
=]
= .
> m 3 € -1
] k= =} k=1 S © —]
H o 5} = 2 ] H g ]
c 3 be] 2 < I~ < 53 =3
o = 7] =] o < [} = n 1
=
>
e} =
= ]
= -
o —— .
o L -
=) .
o
o i
— -
M BT B | | L M EFETE N B
© © < N o < N o
- — - — —
I
N~ O
o I~
- N
o O
R
Lo
o
(o]
Lo
Y—
©
c
~
O
QX< Q
Q.
o
N




(ppm)

corr_us_dd _evMon9 RMS

___________
© o)

(wdd) sny

<

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

p= D o o © o [ @
g 8 ¢ g g8 8
2 S © I S <
3 8 2 i H =
S S !
+ H ~ 8 3 u -
® o E] o 5 T
< bl o0 -
g B 8
g s © E
? .
> m 3 € -1
] = =} k=1 S © —
H o 5} = 2 % H g ]
3 = E 2 3 5 31 =)
= 2} =} o > (8] = 2] -
r —— -
T —
MR B | L | P - M BETE
© < N o N o
— - — -
I
N~ M
0
- N
— N~
o
.+
11
™M N
N

0

X2 / ndf
| \

(pPpb)

corr_us_dd_evMon10




(ppm)

corr_us_dd _evMonl10 RMS

— v'LvOv
— €'Lv0v
— ¢'LvOv
— T'Lv0v
— 0'Lv0¥
— v'orov
— €'9v0r
— 2'9v0Y
— T'9vor
— 0'9v0Y
— v'Svov
— €'svov
— 2'Svov
— T'Svov
— 0'Svov
— EVvror
— <oy
— T'vvor
— O'vvOv
— €'Evov
— ¢’evoy
T'evoy
— O'Evoy
— v'evov
— €¢roy
— ¢'¢voy
— T'evor
— 0°Cvoy
— € Trov
— 2’ Tvov
— T'Tvov
— 0'TvOv
— v'orov
— €'0vov
— ¢'ovoy
— T'ovor
— 0'0v0v
— v'6E0¥
— €'6E07
— ¢'6E0V
— T'6€0V
— 0'6E07
— §'Le0V
— v'Le0v
— €'Le0v
— ¢'LeOY
— T'Le0v
b A014
— v'9e0v
— €'9e0v
—1 2'9e0v
— T'9gor
— 0'9e0v
— v'Se0y
— €'se0v
— 2'Se0v
— T'SE0V
RN | 1 o'seor

_______________
~ © To}

(wdd) sny



& 3 ° ° =~ o R 3
1§ : 1 F 1
H < b & S H B
@ =) N ™ -
X 8 - 5 8
o I @ < N
g 3 g s -
$ 3 ]
> 3 z - H ]
c|l§ S ¥ 5 2 2 § ¢& ]
|2 2 52 & = 5§ & ¢ ]
= =
=}
3 ——l
b= ] .
17} I ]
S —_—— 7
=) _ﬂ
o
a) =
a —
v e b by by by by v by by g by 7
© © < N o 0 © < N o
— — — — —
I —
N~ 0 ——— ]
0o o —
- © —]
10 -
S H -
—A M —_——— ]
0 —
— ——— —
ol o -
— —
u— .
© -]
c —]
)/0 ]
o« —
ol >< Q| —
o —_—— —
~ —]
— — —
— —]
n —
m —]
—— —
= .
e_ ]
- —]
d_ ]
S —
>S5 —]
| -
S
O —
O —]
— —
——— —
—t —
—— —
—_— —
H—— —
— —
—e—}— —
—— —
—— —
—_—— —
— —]
_______ L1l _____________________
o o o o o o o o o
o n o Yol [Tel o 0 o
N — — | _ﬂ_ 4. n_/_




(ppm)

corr_us_dd _evMonll RMS

(wdd) sny

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



0000

15000

10000

5000

5000

10000

15000

corr_usl_evMonO (ppb)

X2 / ndf

pO

60.39 /57
981.6 + 669.2

-
—
——
——
——t
———

1D pull distribution

Mean 0.0002622 + 0.134
B Std Dev 1.02+ 0.09474
10 | | Underflow 0
I Overflow 0
L X2/ ndf 2517
8
Constant 11.43+0.00
B Mean  -9.209e-17 + 1.414e+00
6 Sigma 1.043 + 0.000
4 2 L]
2
0 Ll | Ll 1 | 111 | 111 | 1 Ll | Ll
-8 ) -4 -2 0 2 4 6 8




(ppm)

corr_usl_evMon0 RMS

_____________
To} o To} o
o o o o
Yo} [Tel < <

(wdd) sy

L9}
[co)
<

480

[Te]

47

470

465

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



8 3 ° ° © g 3 8
H A © < + +H -
] o 5 3 8 N
] Q 5 3 B
g o ¢ ° =
5 n
> m H = ]
o £ o <] s © —
c g c S ] S 2 g g b
ol & 5 &8 = &8 2 & B
= m
=}
2 ﬂ
5 — -
o _lp_ ]
— L -
= -
o
o h
i .
| ' R ol b by by by by
© © < N [=) © © < ~ [S)
— =1 - — =
I — —
————— —
N~ M —
L0 N~ —
-~ © —
< ™~ ]
™ 4 ]
® 9 ]
O. — —
o _
<t —
| ——— —
— -
© —
c —
-~ —
N O —
—~| X} —
fe) —
o —
o — —
N—r 1
— —
c —
W ——— —
—_—— —
> —— —
()] —— —
| —_—— —
- ——e——— —
5 —————— —
I — e —— —
————— —
m —
—— —
o — 1 —
— —
—_— —
————— —

A T oW 0
< o @ o




(ppm)

corr_usl_evMonl RMS

________
o T}
© T}

(wdd) sny

50

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

0

(ppb)

corr_usl_evMon2

© 0 ° ° w o 0 g
3 5 N N T 8
g 2 N
< + o 3 & +
g & 4 5 3
S S [ ~
g ; S
8 o
S 3

&
7
H
> e H - =4
s & 3 £ ® § <
g z E 2 by 5 8 S
3 @ = ] < o 3 7]
I
_ _
|
M BTN B N B | L
© © < ~ o
— — — — —
[

WG

~ &

8

O.+_

32
—
™
o™

|

—

©

c

~

N O

< Q|

—

L0000




(ppm)

corr_usl_evMon2 RMS

(wdd) sy

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



§ F° ° ¢ 2 8 8
: 3 ) = o
<] = < H o
H °© [t} ? + H ]
~ + t “ S e
5 o = = S i
- ['s} Ll o >
b= B = = —]
=] S S -
¢ ©° , ]
- & &z . =& ]
@ T 2 k=1 8 ]
5 [a} 5] T c @ H g
c 3} o B e 5 5] 1=
o = 4] =) o < () = n
=
5 —
o -
= ]
3 _ — =
ko] ]
=1 -
o —]
o
-
| | | MR IR | Lo by by g by 7
[ee] © < N o © © < N o
— - — — —
[ ————— —
—_— i —4
N~ I~ —— —
Lo N~ — —— —
~ & —_—— —
— —1
™M N N [
—— —
M + — o I =+
< — —
e A —
| 3
(o] —_——T —1
(¢p] — —
| —_— —
—_— —
—— —
Y I
© | S Sam— —
c ——— —+
~ —_——— —
N O — —
=< al T =
Q0 —_—— —
o — —
= ———— —
~ — leo _k
(9] —
c —_—n
m —_———
—_——H
S —  — ]
H—— —
- ——— —
()] 3
35 —_— —
| ———t— —
= —_—— —
= —_—— —
m ——
— o———
—_——
——
— ————— —
—_—— —f
—_——i -
— e
— -
—_— -1
[ —
—_———————— —
_ 111 _ 11 _ 1 1 Htlunlin Al A
o o o o o [=} OANLN OO L0
g &8 8§ § § R G N




(ppm)

corr_usl_evMon3 RMS

_|_.

L
i
NN

(wdd) sny

(@]
N

NN
o
-

[e0]
—

N~
i

©
—

Lo
—

<
—

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

0.008494 + 0.1326
1.01+ 0.09374
4.94417

12.34 +2.80
0.1136 + 0.1442

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean

0.9276 + 0.1805

Sigma

&

0III|III|

59.12 /57 h

X2 / ndf

|

54.65

|

l
|

|

(ppb)

corr_usl_evMon4

LIdlL il iildl ____.._I.I.I_LlT.IT_.

5,

o o

1000
500
-50

1000

_____
o

150!

200




(ppm)

corr_usl_evMon4 RMS

________________
< o o ©
Mo} o T} <

(wdd) sny

(o]
<

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

© @ @ w0

3 & © © A < 8 8
5 5 5 0 o 8
g 3 3 P 8 2
S s b S S +

+ 1 ] y i
o b=} b 3

2 8 s + 8 -

53 58 E
S

3 ° 4 —

T S 1

Q
5 i
H = B
3 z . £

3 = 3 5 g « —
5 ) 5} T < @ s g

3 ° o ~ c < -
g = 2 3 3 s 8 =3

= 2] =1 o =< o = 12 =

f
TR T R T T L 1 1 L
[Te) o 1) o [S)
3 3 = —

15.49 /57

X2 / ndf

.563

+4

.302

-1

pO

(ppb)

corr_usl_evMon5




(ppm)

corr_usl_evMon5 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
p EEVOY
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

G
<t ™

(wdd) siny



3zooveee
I 38 - S
s & § 0% 8 3
Ho o w9 S —
o~ H T
2 05 N <« 9 |
& 3 £ & -
ISE a3 —]
? o M -
vmw € -1
» T & B 8 © —
c|§ & € & S £ § & b
|2 & 5 &8 = 8 2 & E
=
>
m -
S [ b |
— -
2 | S r— —]
© L -
m -
o
o =
— ]
P TR B [ , TR B
© < N o N o
- - - -
I
~ O
[Tole)}
- ©
o
m+_
—————
48
™
(o))
| ———
—
ke
c
~
~n O
~ <
o)
o ——
=}
N
©
c
~
>
()] —_—
|
%)
S
r_
-
o
o
—
———
—
—_——
trliia H l
o o o o o
o o o o
N - - e




(ppm)

corr_usl_evMon6 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
pSLEOV
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

__ _ __
4 2
— -

(wdd) sny

o
—



600 —

x g °© ° = 2 g 3
i g g % % 8
o © © H °© °© i
T I E & + + ]
5 2 3 s 8 ]
g 3 ° & & —
8 g ° ]
°c . & = _ = ]
] 5] K] k] I}
= a 3 = 2 3 H g —
c ] = B g ~ 5 o} i=)
m = 4] =) o < () = n
5
b =
s 3]
%) o T
M [ —— 7
S -
o —
(@)
i
L 1 I P L | T R
[ — N (e S
— —S.-.e. ..
N~ AN L|. —
Lo & —— —
~ — |” .....
(@] e -
- —
N H -
- O — —
o K O -S— 3
% —e = 5
— T =
_ - T 3
T
-|.|— L
° T
Y— o T
© ——— =t
c P L, -t
-~ o T
~n O —_— —
~<a ——— a
|ml — —
— —
o ———— —
~ —l— —
N~ ———— —4
m ———— —
—— —
M —_—— —_
e_ ——t— —
P —t
5 o —t
()] !
S — —t
I — —— —t
= —_ —
o —_—— —
——— —
© —— e
—e——H —
——— —
L —— —
—_————— —
——— —
e 3
+|




(ppm)

corr_usl_evMon7 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

__________
© <
N N

(wdd) sny

N
N

oL L il



1D pull distribution

+0.06009

0.4576 + 0.04249
6.134/3

30.44 £7.29
-0.01815 + 0.08453
0.3626 + 0.0704

-0.0003306

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean
Sigma

|

0III|III|III|
-5

30
25
20

12.14 /57 h
447 +£10.14

3

0

X2 / ndf

p

(ppb)

corr_usl_evMon8

200

o
Y}
—

o




(ppm)

corr_usl_evMon8 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T TVOV
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

(wdd) sny



1D pull distribution

(ppb)

corr_usl_evMon9

6
£ & g 9% 8 =
s o s 9 2 .
+ + P 3 ]
3 3 & 5002 1
o 2
g B 8 3 i
s b 8 3
s 3 g ° —
S g n
s i
s _ i
3 2 3 s & . A
s &£ $ & I & 5 £ ]
5 )
s 8 5 & % 8 2 3 B
T .
-_— —
L | T T T R T S T | 1 Lo
[Te) o [T) o [S)
3 3 = =
[
N~ O
0 N~
-~ N~
— O
N
nv.+_
— N
(o)
<
(9]
Y—
©
c
~
N O
< Q]
—_——
—_—
—_—————




(ppm)

corr_usl_evMon9 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
p 0°'9V01
v'svoy
oRe14014

[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

[e2] (c0} M~ ©

(wdd) sny

o

<

(e0]

N

____ﬂ
—



1D pull distribution

g I © © © 8 8 3
8 8 2 S & 8
S S N H 3 S ©
=1 o o 3 < H
+ + = 3 pd -
] 4 & + 2 a
8 2 2
8 > ~ B a
g © 7 S
S k3 — ©
? @ b
4 a
H = B
> k) z =
3 5 g —
< a H = 2 3 < g 1<
4 ] = 2 §
g = 2 3 3 s g =3
= [ =) o > o = » -1
\%2
1]
I a
[ — = — ©
L . i
MZ
=
_________________________________________lom
o 0 © < N o © © < o~ o
3% — — - — —

21.65/57 R

X2 / ndf

.606 +10.14

2

pO

(Ppb)

corr_usl_evMonl10




(ppm)

corr_usl_evMonl10 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor

@ 0'SEOY

(e2] [c@)

(wdd) sny

N~

©

o

<

(90]

N

—



corr_usl_evMonll

2] D o o ~ o o =
S R S 2 & 3
5 ~ 23 N
° =] b= H S S @
+ [S] =] N = H -
ts) H M + o 1
3 2 = N N a
] 2 3 ©
5] @ I s — ©
S S = i
(=] T .
: 2 3 s & ]
clsg 5§ &8 3 2 & § E =
b =
|l & 5 & % 8§ = @& =
E=
3 N
e} -
= .
- ! -
2 — o
© 1 -
=] S
o N
o =
- -
________________________________________________|om
< N o © © < N =) 3 © < o~ [}
N o~ « — — — — —
I
~ ™M
n ©
~ O
o «d
0]
nv.+_
™ L
(ee]
i
Y—
©
c
~
%2
—~
o<
Q.
o
N—r




(ppm)

corr_usl_evMonll RMS

___________
© < N
— — —

(wdd) sny

10

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



15000

10000

5000

5000

10000

15000

corr_usr_evMonO0 (ppb)

X2 / ndf

pO

47.28 | 57
—726.5 + 563.5

1D pull distribution

Mean —9.623e-05 + 0.1186
B Std Dev 0.9029 + 0.08383
12 Underflow 0
r Overflow 0
10 X2 I ndf 0.8959/5
- Constant 13.05+2.21
sl 1 Mean 0.2296 + 0.1801
Sigma 1.112 +0.157
6
4
2+
O|||||| ||III|II|II il
-8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_usr_evMon0 RMS

___________ﬂ

o Lo o Lo
N~ O O L
™ ™ ™ ™

(wdd) sy

350

Lo
<
™

o
<
™

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



6000

4000

W @ o o ~ @ ® o
g & > 8§ B
4 2 5 9 g ©
s 2 ~ " 44 o
aS S T T ]
g g 9 g g ]
SR g S -
c o = -
T i
vmwfm -1
*x T £ T 8 © —
c|l§ S %2 8 £ z §5 §E B
|2 & 5 &8 = 8 2 & E
=
=
3 —
s _
17, D R |
0 | e .
ho) -
= _
= ]
%
o =
= 3
M T B M . M B
[{e} N O [V = §
- -
[ ——
——
~
0 o
-~ O
©o N
© 4
010
4.
Ol e
o™
—
)
y—
©
e
~
~n O
—~| < Q]
o
o
[=} — e
N—r
—
c
O
= —————
>
(O]
a
7
S
a
S
8 —————
o




(ppm)

corr_usr_evMonl RMS

(wdd) sy

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



8000

6000

4000

2000

corr_usr_evMon2 (ppb)
X2 / ndf 25.88 /57

pO —258.6 + 329.4

|

.
—_—

1D pull distribution

Mean 0.002181 0.08771

22

[ Std Dev 0.668 + 0.06202
20

: Underflow 0
18__ Overflow [

[ 2 284714
164 Xx? I ndf

: Constant 19.44 + 3.45
141~

N Mean  -0.001227 + 0.094018
12 L Sigma 0.6057 + 0.0727
10

gk i

6

A

o

0_|||||||||| bl i N
-8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_usr_evMon2 RMS

N b b b b b A
L AN NN NN RN NN AN RN NN
o o o o Lo o Lo o
o o (2} (o2} o (¢} N~ N~
N N i — — — — —

(wdd) sy

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

(ppb)

corr_usr_evMon3

E g ° ° o g g ¢
B g 5 9 g 3
e o g +# 4 g
° ©° s ¥ 2 . i
+ + S I
N ® P -~ -
© < NN ™ -
= N < 0 w0
5 S § © .
s © = -
© -
2 - -
.8 0§ & s §E . . A
§ = £ ¢ : 5 § =5 ]
= » S5 O % o = o -1
[
—— | —
_ ]
PR R T T SRR TR TR TR [T SR TR T S N ST S N S ) Lo
n o n o o
N N - —
[ L
~ <t
O O P
- o *
— e
Ml
L H
O ®
e le) P
—
— .
o
°
il
—
S -
c
~ —g
~n O
<o
p—
o —
-
.
<
°
<
.
<
.
.
.
<
.
<
.
]
<
<
°
—
<
.
o
.
AN ETTTE NI S v e Sypr I
o o o o o o o
o o o o o o
8 & 8 S 8] 8




(ppm)

corr_usr_evMon3 RMS

— v'LvOv
— €'Lv0v
— ¢'LvOv
— T'Lv0v
— 0'Lv0¥
— v'orov
— €'9v0r
— 2'9v0Y
— T'9vor
— 0'9v0Y
— v'Svov
— €'svov
— 2'Svov
— T'Svov
— 0'Svov
— EVvror
— <oy
— T'vvor
— O'vvOv
— €'Evov
— ¢’evoy
— T'Evor
— O'Evoy
— v'evov
— €¢roy
— ¢'¢voy
— T'evor
— 0°Cvoy
— € Trov
— 2’ Tvov
— T'Tvov
— 0'TvOv
— v'orov
— €'0vov
— ¢'ovoy
— T'ovor
— 0'0v0v
— v'6E0¥
— €'6E07
— ¢'6E0V
— T'6€0V
— 0'6E07
— §'Le0V
— v'Le0v
— €'Le0v
— ¢'LeOY
— T'Le0v
b A014
— v'9e0v
— €'9e0v
—1 2'9e0v
— T'9gor
— 0'9e0v
— v'Se0y
— €'se0v
— 2'Se0v

T'seor
0'sE0Y

(wdd) sny

©

o

<

(e0]



1500

1000

500

-500

1000

1500

2000

2500

corr_usr_evMon4 (ppb)

X2 / ndf
p0

50.43 /57
—49.65 + 76.94

TITLITE T

1D pull distribution

16

141

121

10

Mean  0.006351+ 0.1224

Std Dev  0.9325 + 0.08658

Underflow 0
Overflow 0
X2 / ndf 6.72217
Constant 14.63 + 3.29

Mean 0.1829 + 0.1226

Sigma 0.7486 + 0.1352

0
8 6 4

-2

0

2

4 6 8




(ppm)

corr_usr_evMon4 RMS

o [o°] ©
N~ © ©

64
62—

(wdd) sny

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



~ 0 ) ) o o I o
E 3 2 8 5 B
hal hal — — 9 =]
c c ~ W 2 H
+ H © o
< 2 ©o H N
2 54 ~ S =
g o o 3 -
8 3
=] =)
ﬂ T
> 3 H - =
] = 2 k=1 8 ©
c|l§ S %2 8 £ z §5 §E
el & 5 & % & 2 @&
=
>
e}
2
©
=)
o
o
-
PR TR S N TN SN TN NN TN WO TR AN O TN W AN WO T W N
N o © © <
— -
I —— —
——
75 —_—— —
0 -]
-~ N ————— —
—— —
%4 —— —
.+l [ P — —
33 ——1— —]
[c¢) —e— —
@ — —
A“ H—— —
oOf—e— —
—— —
—— —
—e— —]
Y ——t —
d _—— —_
c o——— —
~ — —
N =] —l—— ]
~|>X}< —— —
2 ——= ]
— —
= ——— —
~ — e — —
Lo —— —
c —— —
m —— —
—e—— —
> — —
(5] ——— —
a ——— —
& ——— —
—— —
u_ —— —_
—_ —— —
5 —— -
——— —
© — =
——— —
— —
—— —
———— —
———— —
—— —
—_—— —
NI SEEREARERAR Lo il A
o o o o o o o
Y3} o 0 Yol o n
— - | 4. 4.




(ppm)

corr_usr_evMon5 RMS

(wdd) sny

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



v &£ o© o < v o o
s 8088
S 9 g H < o
s o 4 @ o° 3 .
+ + 2 v o n
S 4 8 & ]
§ 2 g 5 =
ER 3 §
z - ]
wmmmm © —
c|l§ S %2 8 £ z §5 §E -
|2 & 5 &8 = 8 2 &
E=
3
b =
= I ]
5 -
i -
= =
o
o
- .
| P TS T U T T N L MR B BT
© < N o [oe) < N o
— - — —
[
N~ O
0 4 ————
-
L
o +
N ~N———
™M <
(o))
™ —_—
|
————
Y—
©
c
~
NP =}
—~[>< Q]
QO
[oX ——
o
~
[(e]
c
o
>
4D} —————
a
(%2}
5
a
=
o
o
——
—_——
________ ]
o o o o o o
o o o o o
© < « 4_ A_..




(ppm)

corr_usr_evMon6 RMS

(wdd) sny

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution

+0.1305

0.9936 + 0.09226

0.001239

Mean
Std Dev

6.655/7

12.05+ 2.60
+0.158138

0.9094 + 0.1545

-0.006457

Underflow
Overflow
X2/ ndf
Constant
Mean
Sigma

ﬂ

0III|III|

57.27 157 R
-14.22

X2 / ndf

16.48

+

p0

(ppb)

corr_usr_evMon7

-200

-400



(ppm)

corr_usr_evMon7 RMS

—T

— v'LvOv
— €'Lv0v
— ¢'LvOv
— T'Lv0v
— 0'Lv0¥
— v'orov
— €'9v0r
— 2'9v0Y
— T'9vor
— 0'9v0Y
— v'Svov
— €'svov
— 2'Svov
— T'Svov
— 0'Svov
— EVvror
— <oy
— T'vvor
— O'vvOv
— €'Evov
— ¢’evoy
— T'Evor
— O'Evoy
— v'evov
— €¢roy
— ¢'¢voy
— T'evor
— 0°Cvoy
— € Trov
— 2’ Tvov
— T'Tvov
— 0'TvOv
— v'orov
— €'0vov
— ¢'ovoy
— T'ovor
— 0'0v0v
— v'6E0¥
— €'6E07
— ¢'6E0V
— T'6€0V
— 0'6E07
— §'Le0V
— v'Le0v
— €'Le0v
— ¢'LeOY
— T'Le0v
b A014
— v'9e0v
— €'9e0v
—1 2'9e0v
— T'9gor
— 0'9e0v
— v'Se0y
— €'se0v
— 2'Se0v

T'seor
0'sE0Y

____
< N
N N

(wdd) sny

o
N

[e@]
—

©
—

<
—

N
—l

o
—

[e0]

(o]



© <« o o ®m @©o @ n o
5 2 3 2 5 &
2 g 3 = S S
g 3 g =+ 3 3
° © <~ 05 H 4
a @ § 9 g
g 2 D T
g 3 s ©°
T
vmw €
» T & B 8 o
c|l§ ¢ & 3 £ & § £
ol & 5 & %« 8 = 3
=
=
o
=
b=
k%)
i}
=
%
o
=
MEFENEEN EPET TR BEATET |
n o 9 n o
oo «~
L *
N~ O
Ln O
~ N
LH O
M+_
— M
Lo °
RV °
Lo ®
| L
— o1 .
= *
° °
< °
~ —_— i
N =]
—~| < Q]
o)
=3 — et ——
o [ NS
N—r -
o) °
c
O
> —_—
>
(O]
a
7
=]
a
o
o
(&)
*
°
®

o

-50

-100




(ppm)

corr_usr_evMon8 RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
p CEVOY
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

(wdd) sny



corr_usr_evMon9 (ppb) 1D pull distribution

X2 7 ndf 16.92 /57
p0 -8.348 + 7.708 || *F

Mean -0.01182 + 0.07091

Std Dev 0.54 £ 0.05014

100

Underflow

50

o 0
® ® 201 Overflow 0
I X2 I ndf 2.79/3
[ ] L
ofeel] | [ i
-_I_- L 3 ry 1 Constant 21.63+4.07
j l l l 15 Mean -0.006855 + 0.082449
-50 L
C Sigma 0.5442 + 0.0733
C ® [ ] ® L
-100— F
-150 — F
| - i

0
8 6 4 2 0 2 4 6 8




(ppm)

corr_usr_evMon9 RMS

LIl

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
p C'SEO0
T'seor
0'sE0Y

[c0] N~ © To] < ™ N

(wdd) sny

—



> o~ o o © 0 ~ ~
2 8 > - g 3
8 ] 2 © 3 8
=] = @© H =] o
< < o N ° + E
+ + = H ~ 1
13 R @ 3 —
3 Pt S E
3 ? .
> m 3 € -1
o £ o <] s © —
c g S S ] S 2 g E i
o s B 5 S %« 8 2 & =
=
=}
b —
= ]
= a
2 - —
ho) -
— L -
S -
o
(@) ]
i .
L L L | L L | TR B R
[ee] < o < N o
— — —
I
N~ I~
<
BPO
—_—
1m+_
™ &
2 —_——
(9
|
————
—
©
c —
~
\)20
S><a
Q.
o
~
o
i
c
=
> —
()
a
()]
=
i
=
o
o
—_———————
_____________ ____________ e gl
o o Q AL OO TN
& ® P - o o'dl




(ppm)

corr_usr_evMonl0 RMS

‘
L1 1+

V' LvOy
LYoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
X444
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£6e0y
2’607
T'6E0V
0'6e07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

N~ © Lo < ™ N

(wdd) sny



1D pull distribution

(ppb)

corr_usr_evMon11

© (2] (=] (=] © © © b
€ 3 S & 8 8
! < 2 S =
o S ™ H o IS} [ee]
H °© < N H + n
o] H o =) 2 1
3 R BN S .
w0 © S ) o
S M o o .
s : . =
o -
. B £ & § § . s 4.
t ]
§ = 28 8 T § § 5 =
= 4] =) o < () = n =
A"
_ i ]
-_— - °
L -
=L
___________________________________________|om
o © © < [ o © © < ~ o
3 - = — — =1
[
N~ AN
0 m
-~ O
NN
_.O.+_
—eo——
43
(©)]
™
N
o
——
Y—
©
c
~
N O
< Q]
—_——
—_——
——
________________________ i
o o o [=) o o
=1 n S n D

N - —




(ppm)

corr_usr_evMonll RMS

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
p ' LEOY
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

(wdd) sny



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123
	Page 124
	Page 125
	Page 126
	Page 127
	Page 128
	Page 129
	Page 130
	Page 131
	Page 132
	Page 133
	Page 134
	Page 135
	Page 136
	Page 137
	Page 138
	Page 139
	Page 140
	Page 141
	Page 142
	Page 143
	Page 144
	Page 145
	Page 146
	Page 147
	Page 148
	Page 149
	Page 150
	Page 151
	Page 152
	Page 153
	Page 154


